8.5
Factor x2 + bx + C




Review:

» Multiplying _ two  bimials results in a
-\'runomm\
« EX: (3x +2)(x—4) & bmmmks

3y —le-\—Qx -%
_g  «— Hvinomial

3)( 2_ 10X -

- Therefore, we will __ factor o “rinomial  jnhe
dwe oinomial s




To factor a polynomial:

- Step 1: Look for a _ common _monomial :
- Step 2: If you have a _ 47inomial , factor
it into 4wy binomijals

o The 15t terms in each binomial must  mulply
to get the 15t term in the trinomial.

o The 2" term in each binomial must add to

get the  dnd Yerms coefficient in the
trinomial and must __ multely to get the
3vd derm in the trinomial.

s NOTE: Pay attention to _ Signs (+] -)




NOTEBOOK EXAMPLE #1
EX: Factor the trinomial.

* X2+ 3X+ 2 (x+l)x+ a> = Think: Whak mukples ogebxt
PO 14 a1 ) o s o gt 3
o X2 — 4X + 3 (x -\ Xx _5> P Chelko?v\d 2
2 -8t +12 (v-0)E-23) Coed
M2+ m— 20 (m+5)m-4) X r3nea v

c W2+ 6W — 16 (w +3 Xw-3)
© X2 — 4XY + 4y (x -29)x -29)
* M* — mn — 42n= (m -Tn ) m +bn)



NOTEBOOK EXAMPLE #2
EX: Solve the equation (by factoring).

* X2 —2X =24

0X2—2X—8=7 *S(S_\,, .
° S(S+1)=72 5?-\-5 :_’2
¥ x-2x =24 x xX*_2ax-%=71 -72-72
o L s%+s-723=0
X?- ax - 24=0 x?-ax-15:=0
x Yx+3)70 (s +2 X5-3)=0
X -b)x+y)=0 (x-5
= x+3=0 = 5-%=06
X-L=0 X+i=0 Xlg'ﬁs -3 3 ng S Cis s
+ +b -y -4 -
@ m @ (s-%‘



